
9978 9978.5 9979 9979.5 9980
cyclenum

1.5

2

2.5

3

3.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

4.4−

4.2−

4−

3.8−

3.6−

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

7951

7951.5

7952

7952.5

7953

7953.5

7954

7954.5

7955

ru
n

run:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7953}



9978 9978.5 9979 9979.5 9980
cyclenum

83.4−

83.2−

83−

82.8−

82.6−

82.4−

82.2−

82−

81.8−

81.6−

81.4−

81.2−

us
l_

1X
usl_1X:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

1.5−

1−

0.5−

0

0.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

13

13.5

14

14.5

15

us
l_

4e
X

usl_4eX:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

21

21.5

22

22.5

23

us
l_

4e
Y

usl_4eY:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

42−

41.5−

41−

40.5−

40−

us
l_

12
X

usl_12X:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

7951

7951.5

7952

7952.5

7953

7953.5

7954

7954.5

7955

ru
n

run:cyclenum {run == 7953}



9978 9978.5 9979 9979.5 9980
cyclenum

125.5−

125−

124.5−

124−

123.5−

us
r_

1X

usr_1X:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

6−

5.5−

5−

4.5−

4−us
r_

4a
Y

usr_4aY:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

173.6

173.8

174

174.2

174.4

174.6

174.8

175

175.2

175.4

175.6

175.8

us
r_

4e
X

usr_4eX:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

20

20.5

21

21.5

22

us
r_

4e
Y

usr_4eY:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

42−

41.5−

41−

40.5−

40−

us
r_

12
X

usr_12X:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

7951

7951.5

7952

7952.5

7953

7953.5

7954

7954.5

7955

ru
n

run:cyclenum {run == 7953}



9978 9978.5 9979 9979.5 9980
cyclenum

16658

16658.2

16658.4

16658.6

16658.8

16659

16659.2

16659.4

16659.6

16659.8

16660

16660.2

us
l_

co
il1

usl_coil1:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

2129.6

2129.8

2130

2130.2

2130.4

2130.6

2130.8

2131

2131.2

2131.4

2131.6

2131.8

us
l_

co
il3

usl_coil3:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

5590.5

5591

5591.5

5592

5592.5

us
l_

co
il4

usl_coil4:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

3276.4−

3276.2−

3276−

3275.8−

3275.6−

3275.4−

3275.2−

3275−

3274.8−

3274.6−

3274.4−

3274.2−

us
l_

co
il6

usl_coil6:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

3982

3982.5

3983

3983.5

3984

us
l_

co
il7

usl_coil7:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

7951

7951.5

7952

7952.5

7953

7953.5

7954

7954.5

7955

ru
n

run:cyclenum {run == 7953}



9978 9978.5 9979 9979.5 9980
cyclenum

15017−

15016.5−

15016−

15015.5−

15015−

us
r_

co
il1

usr_coil1:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

1694−

1693.5−

1693−

1692.5−

1692−

us
r_

co
il3

usr_coil3:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

5621

5621.5

5622

5622.5

5623

us
r_

co
il4

usr_coil4:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

3289.5−

3289−

3288.5−

3288−

3287.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

36184

36184.2

36184.4

36184.6

36184.8

36185

36185.2

36185.4

36185.6

36185.8

36186

36186.2

us
r_

co
il7

usr_coil7:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

7951

7951.5

7952

7952.5

7953

7953.5

7954

7954.5

7955

ru
n

run:cyclenum {run == 7953}



9978 9978.5 9979 9979.5 9980
cyclenum

122.5−

122−

121.5−

121−

120.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

14

14.5

15

15.5

16

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

241.5

242

242.5

243

243.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

230−

229.5−

229−

228.5−

228−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

20.5−

20−

19.5−

19−

18.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

262.2

262.4

262.6

262.8

263

263.2

263.4

263.6

263.8

264

264.2

264.4

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7953}



9978 9978.5 9979 9979.5 9980
cyclenum

288.5

289

289.5

290

290.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

116.8−

116.6−

116.4−

116.2−

116−

115.8−

115.6−

115.4−

115.2−

115−

114.8−

114.6−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

37−

36.8−

36.6−

36.4−

36.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

265.6

265.8

266

266.2

266.4

266.6

266.8

267

267.2

267.4

267.6

267.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

140−

139.5−

139−

138.5−

138−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

29.5−

29−

28.5−

28−

27.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7953}



9978 9978.5 9979 9979.5 9980
cyclenum

239.5−

239−

238.5−

238−

237.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

86−

85.5−

85−

84.5−

84−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

4.5

5

5.5

6

6.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

5.5

6

6.5

7

7.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

506.5−

506−

505.5−

505−

504.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7953}

9978 9978.5 9979 9979.5 9980
cyclenum

7951

7951.5

7952

7952.5

7953

7953.5

7954

7954.5

7955

ru
n

run:cyclenum {run == 7953}
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